
If I calculate ݎ	 with the formula 

ݎ ൌ
ூሺ݇௫ሻݍଽܣ െ ଵଵܣ
ଵଶܣ െ ூሺ݇௫ሻݍଵ଴ܣ

  1 

 

With first calculating  

ହܣ ൌ
݁௜൫௞ೣି௞ೣ

಺಺൯௫ᇲሺݍூሺ݇௫ሻ െ ூூሺ݇௫ݍ
ூூሻሻ

ூூሺ݇௫ݍ
ூூሻ െ ூூሺെ݇௫ݍ

ூூሻ

ඥ1 ൅ ூூሺ݇௫ݍ|
ூூሻ|ଶ

ඥ1 ൅ |ூሺ݇௫ሻݍ|
ଶ
 

଺ܣ ൌ
݁ି௜൫௞ೣା௞ೣ

಺಺൯௫ᇲሺݍூሺെ݇௫ሻ െ ூூሺെ݇௫ݍ
ூூሻሻ

ூூሺ݇௫ݍ
ூூሻ െ ூூሺെ݇௫ݍ

ூூሻ

ඥ1 ൅ ூூሺ݇௫ݍ|
ூூሻ|ଶ

ඥ1 ൅ |ூሺെ݇௫ሻݍ|
ଶ
 

଻ܣ ൌ
݁௜൫௞ೣା௞ೣ

಺಺൯௫ᇲሺݍூሺ݇௫ሻ െ ூூሺ݇௫ݍ
ூூሻሻ

ூூሺെ݇௫ݍ
ூூሻ െ ூூሺ݇௫ݍ

ூூሻ

ඥ1 ൅ ூூሺെ݇௫ݍ|
ூூሻ|ଶ

ඥ1 ൅ |ூሺ݇௫ሻݍ|
ଶ

 

଼ܣ ൌ
݁௜൫௞ೣ

಺಺ି௞ೣ൯௫
ᇲ
ሺݍூሺെ݇௫ሻ െ ூூሺ݇௫ݍ

ூூሻሻ

ூூሺെ݇௫ݍ
ூூሻ െ ூூሺ݇௫ݍ

ூூሻ

ඥ1 ൅ ூூሺെ݇௫ݍ|
ூூሻ|ଶ

ඥ1 ൅ |ூሺെ݇௫ሻݍ|
ଶ
 

 

ଽܣ ൌ ହܣ
݁௜௞ೣ

಺಺௫ᇳ

ඥ1 ൅ ூூሺ݇௫ݍ|
ூூሻ|ଶ		

൅ ଻ܣ
݁ି௜௞ೣ

಺಺௫ᇳ

ඥ1 ൅ ூூሺെ݇௫ݍ|
ூூሻ|ଶ		

 

ଵ଴ܣ ൌ ଺ܣ
݁௜௞ೣ

಺಺௫ᇳ

ඥ1 ൅ ூூሺ݇௫ݍ|
ூூሻ|ଶ		

൅ ଼ܣ
݁ି௜௞ೣ

಺಺௫ᇳ

ඥ1 ൅ ூூሺെ݇௫ݍ|
ூூሻ|ଶ		

 

ଵଵܣ ൌ ହܣ
݁௜௞ೣ

಺಺௫ᇴݍூூሺ݇௫
ூூሻ

ඥ1 ൅ ூூሺ݇௫ݍ|
ூூሻ|ଶ		

൅ ଻ܣ
݁ି௜௞ೣ

಺಺௫ᇴݍூூሺെ݇௫
ூூሻ

ඥ1 ൅ ூூሺെ݇௫ݍ|
ூூሻ|ଶ		

 

ଵଶܣ ൌ ଺ܣ
݁௜௞ೣ

಺಺௫ᇳݍூூሺ݇௫
ூூሻ

ඥ1 ൅ ூூሺ݇௫ݍ|
ூூሻ|ଶ		

൅ ଼ܣ
݁ି௜௞ೣ

಺಺௫ᇳݍூூሺെ݇௫
ூூሻ

ඥ1 ൅ ூூሺെ݇௫ݍ|
ூூሻ|ଶ		

 

And then  

ݎ ൌ
ூሺ݇௫ሻݍଽܣ െ ଵଵܣ
ଵଶܣ െ ூሺ݇௫ሻݍଵ଴ܣ

	

  

The result is different from when I directly calculate  ݎ as below (which is exactly the same as 1). 

ݎ ൌ െ 

݁ଶ௜ሺ௞ೣሻ௫
ᇲ
൫ݍூሺ݇௫ሻ െ ூூሺ݇௫ݍ

ூூሻ൯ඥ1 ൅ |ூሺെ݇௫ሻݍ|
ଶ				ሺሾݍூሺ݇௫ሻ െ ூூሺ݇௫ݍ

ூூሻሿ െ ݁ଶ௜൫௞ೣ
಺಺൯ሺ௫ᇲି௫ᇳሻሾݍூሺ݇௫ሻ െ ூூሺെ݇௫ݍ

ூூሻሿሻ

ඥ1 ൅ |ூሺ݇௫ሻݍ|
ଶሺሾݍூሺ݇௫ሻ െ ூூሺ݇௫ݍ

ூூሻሿ൫ݍூሺെ݇௫ሻ െ ூூሺെ݇௫ݍ
ூூሻ൯ െ ݁ଶ௜൫௞ೣ

಺಺൯ሺ௫ᇲି௫ᇳሻ൫ݍூሺെ݇௫ሻ െ ூூሺ݇௫ݍ
ூூሻ൯ሾݍூሺ݇௫ሻ െ ூூሺെ݇௫ݍ

ூூሻሿሻ

 


